Original

language
English

Vi
— — s

FUNC FLATSCREEN CHVST2

Installation and
Adjustment Manual

MO000093 / A006630

DE

ES
Fi
FR
NL
PL
RUS
ARB
SE
GR

Handbuch fur Installation und Anpassung
Manuale per l'installazione e la regolazione
Manual de instalacion y ajuste

Asennus- ja sdatdohje

Manuel d’installation et de réglage
Handboek voor installatie en instellingen
Instrukcja instalacji i konfiguracii
NHCTpyKUMA MO yCTaHOBKE U perynnpoBKe
Pl N P G M ¥ 1| [V W | [
Monterings- och justeringsmanual
Eyxelpidlo eykatdotaong kal puBuiong

FUNC

BY SMS



2 FUNC FLATSCREEN CHVST2

Assembly Instructions

[
x4 : 3
X 4
Max 100 kg.
(222 Ibs.)

If I
[ P i'/l J1| Tmy | Screw M8x20 x4
[ & 2| & | Nutms x4
D [ J3 ) i | Screw M8x20 x4
L . Ja| ) |Washer 15/8 x2
Screw Kit J5 Washer 22/8 X2
@ @ I A o J6 @ Washer Locking | x2
‘ ) J7| L~ |Nos. 3,4,6 x3
J8 | Py | Screw M10x65 | x1
Jo Nut M10 x1
@ X2 3 J10|  |Plastic cover 17 | x2
J11| (O | Plastic cover 13 | x16
! elele H1 &b | Screw M6x10 x4
@ M- H2 Washer 6,4 x4
X2 no.3 no.4 no.6 X2 X16©®®®




FUNC FLATSCREEN CHVST2 3

Tighten! '




4 FUNC FLATSCREEN CHVST2

/«\’
‘\

7
o1

Func Flatscreen -
“ H Unislide
Refer
Manual!

MANUAL

uuuuuuuuuuuuu
:::::::

8  For 0° Tilt

i)

Plastic
Covers!




Product Dimensions

FUNC FLATSCREEN CHVST2 5

250 mm——

COCOCOCD
[T

OO O C

) =3
€ i}
g (b
£
£
0
©
©
E
P =
o 1
® £
R £
] 0
= )
: S
S c
N
£
=
R =42
a
H
> < > ® ®o — R
o
— L
~ =
- | =
L T
, ; , ® @

ax. 400 m

Min. 1109 mm - Max. 1709 mm

’ 200 ‘
| Llﬁ_lﬁ_” \\\\
o © /,;
\ o ' A / /

894 mm

r1 ockl

[ T
ks Gl
| ~eo-- &l
D —=—110—— u
B Min. 100 mm - Max. 800 mm -
Tilt -3° to +25°
200 DETAIL 'A’
@ 11 (x4)——X~o

© @ &

(il © e © <
L o N

760

'Swivel +/- 180°|

All dimensions in mm.




6 FUNC FLATSCREEN CHVST2

B

FUNC

BY SMS

www.smartmediasolutions.se

“JuslNoop SiY} Jo Buysiand ey Jelye suoeoyioads Jonpoid sy ul seBueyo 80Pl 0} 1B 8U} BAISSa) AN

‘g ey

0£9900V / E60000W 0u20a  10-2L0-€+0T



